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A— R Ba—XA Cx—A

D 2x*+16x+24

= 2(x2+8x+12)

= 2(x+2)x+6)
©@ 5x2—45)?

f 5(%‘2793)2)

= 5(x+3y)(x—3y)

® a*x+Tax+ 12x

— xa®*+7a+12)

= x(@+3)(at+4)

@ p*+T1p>—18p
= p(p>+T7p—18p)

= p(p+9(p—2)
® 2ax?+4+4ax— 6a

— 2a(x*+2x—3)

= 2a(x+3)&—1
® 2m3—8m

= 2m(m>—4)

= 2m(m+2)(m—2)

@ x%244xy?—21y?
=2 (x2+4x—21)

=y2(r+7)(x—3)

(x+15) (x—3) —16x
= (x*+12x—45)—16x
= x*+12x—45—16x
= x*—4x—45
= (x—9k+5)

@ +9) x+1)+15
= (x*+10x+9+15
= (x+4)x+6)

DO —2a?+8a+10
= —92(a*—4a—5)
= —2(a—5)a+1)

@ 64— 54ab+108h?
= 6(a*—9ab—18b2)
= 6(a—30)(a—6b)

@ X3+ 16x24 64x
=x(x?+16x+64)
=x(x+8)

@ m2n+2mn—24n
=n(m?+2m—24)
=n(m+6)(m—4)

® 3xy2—24xy+ 36x

=3x(y*—8y+12)

=3x(y—2)(y—6)
©® xWP—xy
= xy(x2y2 +1)
— xy(ry+ 1D y—1)
@  2x3%y—6x%H2—56x)°
= 2xy(x®—3xy —28y?)

= 2xy(x—Ty)(x+4y)

(x+5) (x—6)+10
= ?—x—30+10
= x*—x—30+10
= x?—x—20
= (x—5)(x+4)

@ (x—3) (x—2)—30
= (x>—5x+6)—30

x2—5x+6—30

= x2—bHx—24

= (x—8)(x+3)

O —x*4+4x+12
= —(x*—4x—12)
= —(x+2)kx—6)
@ —3y*+6y—3
= —3(y2—2y+1)
= —3(y+ 1)
® —8a2+50
= —2(4a>—25)
= —2(2a+5)(2a—5)
@  4x2—8xy+4y?
= 4(x*—2xy+y?)
= 4(x—y)’
® 3a—27ab?
= 3a(1—9y2)
= 3a(1+3y)(1—3y)
® 3a2c+ 36abc+108b%c
= 3¢(a?+12ab+36bH2)
= 3c(a+6b)
@ 4a’b—16ab?
= 4ab(a*—4p?)
= 4ab(a+2b)(a—2b)

(x+6) (x—2) —3x
= (x?+4x—12)—3x
= x2+4x—12—3x
= x2+x—12
= (x+49)K—3)

©@ (x+1) (x+14) —24x
= (x*+15x+14) 24«
= x*+15x+14—24x
= x?2—9x+14

= G—7Nk—2)




